
EPE-DK116 091123

FIG NO DESCRIPTION STANDARD TYPE PART NO 

10 1 Intermediate Flange with fig. 95, 410, 415 DK11102.6C

35 1 Armature with Fan and Bearings 230 V DK10108-1

1 Armature with Fan and Bearings 110V DK10108/11-1

40 1 Field 230V DK10109.6

1 Field 110V DK10109.6/11

30 1 Electronic Module with Suppression Capacitor 230V DK15510.6C

1 Electronic Module with Suppression Capacitor 110V DK15510.6/11C

190 1 Cord G1,5x3,8 without plug 8738151

235 1 Plug Schuko 8016013

FIG NO DESCRIPTION STANDARD TYPE PART NO 

100 1 Gear Box DK11201.6

105 1 Clamp Ring with Fig. 300, 315 DK12202C

110 1 Supporting ring DK11204.6

112 1 Insert bush DK11205.6

115 1 Drill spindle M16 DK11206.16

119 1 Pinion shaft DK11208.16

120 1 Spur wheel with Bearing Socket DK12209C

125 1 Center sleeve DK11210.6

127 1 Center point DK11212.6

128 1 Bearing cup DK11213.6

129 1 Protective tube DK11420

130 1 Spindle wheel DK11215.6

135 2 Brake disc DK10218

145 1 Pressure disc DK10219

150 1 Bearing socket DK10221

160 1 Vacuum adapter DK11230.6

165 1 Locking clip DK11234.6

170 1 Quadring 7,65x1,78 4504011

180 1 Shim ring PS8x14x1 1908141

185 1 Shim ring PS10x16x1 1910161

190 1 Handle 8900014

192 1 Ball bearing 629 6062900

195 1 Ball bearing 6004 2RS 6060044

200 1 Ball bearing 6060250

205 2 Needle bush HK1010 6310100

210 1 O-Ring RDR78x2 5578002

235 1 Rotary shaft seal A16x30x7 5016307

247 1 Pressure Spring 4307265

250 1 Disk spring 28x14,2x1,5 4028142

260 1 Hexagon nut BM12x1,5 1012015

265 1 Parallel pin 4m6x10 2504010

270 1 Retaining ring A15x1 3515001

275 1 Retaining ring A20x1,2 3520012

280 1 Retaining ring J42x1,75 3442175

285 1 Parallel key A4x4x10 3004010

290 1 Hexagon socket screw M5x70 0105070

295 3 Hexagon socket screw M5x50 0105050

300 1 Wing screw M6x40 0506040

310 4 Locking washer SM5 1805000

315 1 Medium washer A6,4 1806125

330 1 Gear oil 90ml 9009001

1 Carrying case DK10850

Subject to change without notice

* parts are substituted

Motor -> DK 08 except

Gear 

Spare Parts Price List - Diamond Core Drill

Type DK 116

The prices listed are gross prices in € per item, plus statutory Value added tax. 

When ordering spare parts, please always state: machine number, quantity, designation, spare part number and, for electrical parts, the nominal voltage (if different 

from 230 V). 

WEKA Elektrowerkzeuge KG,  Auf der Höhe 20,  D 75387 Neubulach - Altbulach

Telephon: +49 7053 96816-0, spare parts: +49 7053 96816-14 · Telefax: +49 7053 3138

Internet: www.weka-elektrowerkzeuge.de · E-mail: weka@weka-elektrowerkzeuge.de

Seite 1/1


